

## i2c Security Proposal

Toledo Parks

I2C Technologies, LTD 413 Applegrove St. NW North Canton, Ohio 44720 Phone: (888) 422-7749 Email: Sales@i2ctech.com

Web: www.i2ctech.com

			ete IIit				
ltem#	<u>Description</u>		STS Unit Price	<u>Qty</u>	Ext Price		
	Navarre Park		1100				
	Pool Building						
1	AXIS Q6100-E 60HZ - Outdoor-ready 360° situational awareness camera, comprising of 4x5MP sensors @ 20fps in H.264/H.265 Zipstream and Motion JPEG. Movable sensors with exchangeable lenses. Autofocus, D/N. Directional Audio Detection. Designed to be integrated with any AXIS Q61-series camera for large area coverage and simultaneous zoom-in view, using the one-click PTZ control feature. Full size SD-card slot. No extra equipment required, as it uses the same brackets, power supply and network cable as the connected AXIS Q61	\$	1,567.02	1	\$	1,567.02	
2	<b>AXIS Q6135-LE 60HZ</b> PTZ camera with continues 360° pan and build in IR illumination (660ft) with 32x optical zoom, Autofocus and Focus Recall. HDTV 1080p @ 60fps (1920x1080) in Motion JPEG, H.264, H.265, and Axis Zipstream. Day & Night, IP66, NEMA 4X and NEMA TS2 classification. Full-size SD-card slot. Perfect image quality in all directions without distortion. WDR, EIS, Speed dry. Includes Advanced gate keeper and analytics. Repaintable surface. Midspan with fiber slot and RJ45 input included.	\$	2,449.02	1	\$	2,449.02	
3	AXIS T91D62 TELESCOPIC PARAPET MNT	\$	342.02	1	\$	342.02	
4	AXIS T94A01D PENDANT KIT	\$	48.02	1	\$	48.02	
5	Installation and Configuration	\$	110.00	1	\$	110.00	
6	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	1	\$	58.80	
7	Cabling	\$	250.00	1	\$	250.00	
8	ACS Core Device E-License	\$	79.00	2	\$	158.00	
9	LED Blue light	\$	97.02	1	\$	97.02	
11	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.  Installation and Configuration	\$	979.02	1	\$	979.02	
12	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	1	\$	58.80	
13 14	Cabling ACS Core Device E-License	\$	250.00 79.00	1 1	\$ \$	250.00 79.00	
14	ACS Core Device E-License	\$	79.00	1	\$	79.00	
<i>,</i> =	Point to Point Wireless	•	07/ 10	_	•	74001	
15	Wireless Reciever - Includes power supplies and NEMA outdoor enclosure for power supplies/data switch	\$	371.42	2	\$	742.84	
16	Installation and Configuration	\$	110.00	2	\$	220.00	
17	Cabling	\$	250.00	1	\$	250.00	
	Server / Cell Modem						
18	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$	1,175.02	1	\$	1,175.02	
19	Cradlepoint Cellular Modem with antenna	\$	1,612.10	1	\$	1,612.10	
20	Installation and Configuration	\$	110.00	1	\$	110.00	
21	8 Port 60W Managed POE Switch	\$	155.82	2	\$	311.64	

#### Collins Park

# Golf Cart Building

22	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$ 979.02	2	\$ 1,958.04
23	Installation and Configuration	\$ 110.00	2	\$ 220.00
24	Camera Configuration Setup and Training - Per Camera Installed on System	\$ 58.80	2	\$ 117.60
25	Cabling	\$ 250.00	2	\$ 500.00
26	ACS Core Device E-License	\$ 79.00	2	\$ 158.00
	Clubhouse			
27	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$ 979.02	1	\$ 979.02
28	Installation and Configuration	\$ 110.00	1	\$ 110.00
29	Camera Configuration Setup and Training - Per Camera Installed on System	\$ 58.80	1	\$ 58.80
30	Cabling	\$ 250.00	1	\$ 250.00
31	ACS Core Device E-License	\$ 79.00	1	\$ 79.00
	Maintenance			
32	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$ 979.02	1	\$ 979.02
33	Installation and Configuration	\$ 110.00	1	\$ 110.00
34	Camera Configuration Setup and Training - Per Camera Installed on System	\$ 58.80	1	\$ 58.80
35	Cabling	\$ 250.00	1	\$ 250.00
36	ACS Core Device E-License	\$ 79.00	1	\$ 79.00
	Point to Point Wireless			
37	Wireless Reciever - Includes power supplies and NEMA outdoor enclosure for power supplies/data switch	\$ 371.42	4	\$ 1,485.68
38	Installation and Configuration	\$ 110.00	4	\$ 440.00
39	Cabling	\$ 250.00	2	\$ 500.00
	Server			
40	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$ 1,175.02	1	\$ 1,175.02
41	8 Port 60W Managed POE Switch	\$ 155.82	3	\$ 467.46

	<u>Cullen Park</u>					
	VPMax Pole Camera					
42	VPMax with two 4MP fixed cameras and M5525-E PTZ Surveillance Solution - Custom powder coated steel housing with Cradlepoint cellular modem and 4 TB ruggedized server and Axis Camera Station VMS	\$	7,349.02	1	\$	7,349.02
43	Installation and Configuration	\$	110.00	2	\$	220.00
44	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	3	\$	176.40
		·				
	Cullen Park Total Price				\$7,	745.42
	Detwiler Park					
	Clubhouse					
45	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and	\$	979.02	1	\$	979.02
	weather shield.					
46	Installation and Configuration	\$	110.00	1	\$	110.00
47	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	1	\$	58.80
48	Cabling	\$	250.00	1	\$	250.00
49	ACS Core Device E-License	\$	79.00	1	\$	79.00
50	Baseball Field Electric Building  AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU).  Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS	\$	979.02	2	\$	1,958.04
	Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.					
51	Installation and Configuration	\$	110.00	2	\$	220.00
52	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	2	\$	117.60
53	Cabling	\$	250.00	2	\$	500.00
54	ACS Core Device E-License	\$	79.00	2	\$	158.00
	Point to Point Wireless					
55	Wireless Reciever - Includes power supplies and NEMA outdoor enclosure for power supplies/data switch	\$	371.42	2	\$	742.84
56	Installation and Configuration	\$	110.00	2	\$	220.00
57	Cabling	\$	250.00	1	\$	250.00
	-					
	Server					
58	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$	1,175.02	1	\$	1,175.02
	-					

155.82

Detwiler Park Total Price

2

\$

\$7,129.96

311.64

59

8 Port 60W Managed POE Switch

Jamie Farr Park					
Pavilion / Parking					
AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$	979.02	2	\$	1,958.04
Installation and Configuration	\$	110.00	2	\$	220.00
Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	2	\$	117.60
Cabling	\$	250.00	2	\$	500.00
ACS Core Device E-License	\$	79.00	2	\$	158.00
Pool/Parking/Playground					
AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.		979.02	3	\$	2,937.06
Installation and Configuration	\$	110.00	3	\$	330.00
Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	3	\$	176.40
Cabling	\$	250.00	3	\$	750.00
ACS Core Device E-License	\$	79.00	3	\$	237.00
Point to Point Wireless					
Wireless Reciever - Includes power supplies and NEMA outdoor enclosure for power supplies/data switch	\$	371.42	2	\$	742.84
Installation and Configuration	\$	110.00	2	\$	220.00
Cabling	\$	250.00	1	\$	250.00
Server / Cell Modem	•	==		•	==
i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$	1,175.02	1	\$	1,175.02
Cradlepoint Cellular Modem with antenna	\$	1,612.10	1	\$	1,612.10
Installation and Configuration	\$	110.00	1	\$	110.00
8 Port 60W Managed POE Switch	\$	155.82	2	\$	311.64

Jamie Farr Park Total Price

\$11,805.70

		Р	

#### Pump House

77	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$	979.02	3	\$	2,937.06
78	Installation and Configuration	\$	110.00	3	\$	330.00
79	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	3	\$	176.40
80	Cabling	\$	250.00	3	\$	750.00
81	ACS Core Device E-License	\$	79.00	3	\$	237.00
00	Server / Cell Modem	Φ.	4 475 00	4	Φ.	4 475 00
82	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$	1,175.02	1	\$	1,175.02
83	Cradlepoint Cellular Modem with antenna	\$	1,612.10	1	\$	1,612.10
84 85	Installation and Configuration	\$ \$	110.00 155.82	1 1	\$ \$	110.00 155.82
65	8 Port 60W Managed POE Switch	Φ	100.02	1	Φ	100.02
	Wilson Park Total Price				\$7,4	483.40
	Jarmain Park					
86	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$	979.02	3	\$	2,937.06
87	Installation and Configuration	\$	110.00	3	\$	330.00
88	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	3	\$	176.40
89	Cabling	\$	250.00	3	\$	750.00
90	ACS Core Device E-License	\$	79.00	3	\$	237.00
	Server / Cell Modem					
91	Server / Cell Modem i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$	1,175.02	1	\$	1,175.02
91 92		\$	1,175.02 1,612.10	1	\$	1,175.02 1,612.10
	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor		·			,
92	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor Cradlepoint Cellular Modem with antenna	\$	1,612.10	1	\$	1,612.10
92 93	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor Cradlepoint Cellular Modern with antenna Installation and Configuration	\$	1,612.10 110.00	1 1	\$ \$ \$	1,612.10 110.00
92 93	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor Cradlepoint Cellular Modem with antenna Installation and Configuration 8 Port 60W Managed POE Switch	\$	1,612.10 110.00	1 1	\$ \$ \$	1,612.10 110.00 155.82
92 93	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor Cradlepoint Cellular Modem with antenna Installation and Configuration 8 Port 60W Managed POE Switch  Jermain Park Total Price	\$ \$ \$	1,612.10 110.00	1 1	\$ \$ \$	1,612.10 110.00 155.82
92 93 94	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor  Cradlepoint Cellular Modem with antenna Installation and Configuration 8 Port 60W Managed POE Switch  Willys Park  AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$ \$ \$	1,612.10 110.00 155.82	1 1 1	\$ \$ \$ \$7,4	1,612.10 110.00 155.82 183.40
92 93 94	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor  Cradlepoint Cellular Modem with antenna Installation and Configuration 8 Port 60W Managed POE Switch  Willys Park  AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and	\$ \$ \$	1,612.10 110.00 155.82	1 1 1 3	\$ \$ \$7,4	1,612.10 110.00 155.82 <b>183.40</b> 2,937.06

98 99	Cabling ACS Core Device E-License	\$ \$	250.00 79.00	3 3	\$ \$	750.00 237.00
		·			·	
	Server / Cell Modem					
100	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$	1,175.02	1	\$	1,175.02
101	Cradlepoint Cellular Modem with antenna	\$	1,612.10	1	\$	1,612.10
102	Installation and Configuration	\$	110.00	1	\$	110.00
103	8 Port 60W Managed POE Switch	\$	155.82	1	\$	155.82
	Willys Park Total Price				\$7,4	483.40
	<u>Trilby Park</u>					
104	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$	979.02	3	\$	2,937.06
105	Installation and Configuration	\$	110.00	3	\$	330.00
106	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	3	\$	176.40
107	Cabling	\$	250.00	3	\$	750.00
108	ACS Core Device E-License	\$	79.00	3	\$	237.00
	Output Out Market					
109	Server / Cell Modem i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$	1,175.02	1	\$	1,175.02
110	· · · · · · · · · · · · · · · · · · ·	\$	1,612.10			1,612.10
111	Cradlepoint Cellular Modem with antenna Installation and Configuration	э \$	110.00	1 1	\$ \$	110.00
112	8 Port 60W Managed POE Switch	э \$	155.82	1	Ф \$	155.82
112	o Port 600V Managed POE Switch	Ф	100.02	ı	Ф	155.62
	Trilby Park Total Price				\$7,4	483.40
	Ottawa Park					
	Substation					
113	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$	979.02	2	\$	1,958.04
114	Installation and Configuration	\$	110.00	2	\$	220.00
115	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	2	\$	117.60
116	Cabling	\$	250.00	2	\$	500.00
117	ACS Core Device E-License	\$	79.00	2	\$	158.00

**Pavilion** 

118	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$ 979.02	2	\$	1,958.04
119	Installation and Configuration	\$ 110.00	2	\$	220.00
120	Camera Configuration Setup and Training - Per Camera Installed on System	\$ 58.80	2	\$	117.60
121	Cabling	\$ 250.00	2	\$	500.00
122	ACS Core Device E-License	\$ 79.00	2	\$	158.00
	Ottawa Park Golf Course				
123	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris Iens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$ 979.02	2	\$	1,958.04
124	Installation and Configuration	\$ 110.00	2	\$	220.00
125	Camera Configuration Setup and Training - Per Camera Installed on System	\$ 58.80	2	\$	117.60
126	Cabling	\$ 250.00	2	\$	500.00
127	ACS Core Device E-License	\$ 79.00	2	\$	158.00
	Point to Point Wireless				
128	<b>Wireless Reciever</b> - Includes power supplies and NEMA outdoor enclosure for power supplies/data switch	\$ 371.42	2	\$	742.84
129	Installation and Configuration	\$ 110.00	2	\$	220.00
130	Cabling	\$ 250.00	2	\$	500.00
	Server				
131	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$ 1,175.02	2	\$	2,350.04
132	8 Port 60W Managed POE Switch	\$ 155.82	3	\$	467.46
	Ottawa Park Total Price			\$13	3,141.26
	Smith Park				
	Pool Building - PTZ Camera				
134	AXIS Q6135-LE 60HZ PTZ camera with continues 360° pan and build in IR illumination (660ft) with 32x optical zoom, Autofocus and Focus Recall. HDTV 1080p @ 60fps (1920x1080) in Motion JPEG, H.264, H.265, and Axis Zipstream. Day & Night, IP66, NEMA 4X and NEMA TS2 classification. Full-size SD-card slot. Perfect image quality in all directions without distortion. WDR, EIS, Speed dry. Includes Advanced gate keeper and analytics. Repaintable surface. Midspan with fiber slot and RJ45 input included.	\$ 2,449.02	1	\$	2,449.02
135	AXIS T91A64 BRACKET CORNER	\$ 77.42	1	\$	77.42
136	AXIS T91L61 WALL-AND-POLE MOUNT	\$ 97.02	1	\$	97.02
137	Installation and Configuration	\$ 110.00	1	\$	110.00
138	Camera Configuration Setup and Training - Per Camera Installed on System	\$ 58.80	1	\$	58.80
139	Cabling	\$ 250.00	1	\$	250.00
140	ACS Core Device E-License	\$ 79.00	1	\$	79.00
141	LED Blue light	\$ 97.02	1	\$	97.02

Pool I	Building	- Fixed	Position	Cameras
--------	----------	---------	----------	---------

142	Pool Building - Fixed Position Cameras  AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU).  Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$ 979.02	2	\$	1,958.04
143	Installation and Configuration	\$ 110.00	2	\$	220.00
144	Camera Configuration Setup and Training - Per Camera Installed on System	\$ 58.80	2	\$	117.60
145	Cabling	\$ 250.00	2	\$	500.00
146	ACS Core Device E-License	\$ 79.00	2	\$	158.00
	Server / Cell Modem				
147	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$ 1,175.02	1	\$	1,175.02
148	Cradlepoint Cellular Modem with antenna	\$ 1,612.10	1	\$	1,612.10
149	Installation and Configuration	\$ 110.00	1	\$	110.00
150	8 Port 60W Managed POE Switch	\$ 155.82	1	\$	155.82
	Smith Park Total Price			\$9,2	224.86
	Boss Park				
151	AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$ 979.02	1	\$	979.02
152	Installation and Configuration	\$ 110.00	1	\$	110.00
153	Camera Configuration Setup and Training - Per Camera Installed on System	\$ 58.80	1	\$	58.80
154	Cabling	\$ 250.00	1	\$	250.00
155	ACS Core Device E-License	\$ 79.00	1	\$	79.00
	Server				
156	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$ 1,175.02	1	\$	1,175.02
157	Installation and Configuration	\$ 110.00	1	\$	110.00
158	8 Port 60W Managed POE Switch	\$ 155.82	1	\$	155.82
	Boss Park Total Price			\$2,9	917.66
	Highland Park				
4=0	Highland Park - Baseball Field - PTZ Camera			•	
159	AXIS Q6135-LE 60HZ PTZ camera with continues 360° pan and build in IR illumination (660ft) with 32x optical zoom, Autofocus and Focus Recall. HDTV 1080p @ 60fps (1920x1080) in Motion JPEG, H.264, H.265, and Axis Zipstream. Day & Night, IP66, NEMA 4X and NEMA TS2 classification. Full-size SD-card slot. Perfect image quality in all directions without distortion. WDR, EIS, Speed dry. Includes Advanced gate keeper and analytics. Repaintable surface. Midspan with fiber slot and RJ45 input included.	\$ 2,449.02	1	\$	2,449.02
160	AXIS T91A64 BRACKET CORNER	\$ 77.42	1	\$	77.42
161	AXIS T91L61 WALL-AND-POLE MOUNT	\$ 97.02	1	\$	97.02
162	Installation and Configuration	\$ 110.00	1	\$	110.00
163	Camera Configuration Setup and Training - Per Camera Installed on System	\$ 58.80	1	\$	58.80
164	Cabling	\$ 250.00	1	\$	250.00

165	ACS Core Device E-License	\$	79.00	1	\$	79.00
	Reschall Field Fixed Position Company					
166	Baseball Field - Fixed Position Cameras  AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$	979.02	2	\$	1,958.04
167	Installation and Configuration	\$	110.00	2	\$	220.00
168	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	2	\$	117.60
169	Cabling	\$	250.00	2	\$	500.00
170	ACS Core Device E-License	\$	79.00	2	\$	158.00
	Server / Cell Modem					
171	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$	1,175.02	1	\$	1,175.02
172	Cradlepoint Cellular Modem with antenna	\$	1,612.10	1	\$	1,612.10
173	Installation and Configuration	\$	110.00	1	\$	110.00
174	8 Port 60W Managed POE Switch	\$	155.82	1	\$	155.82
	Highland Park Total Price				<b>\$9</b> ,	127.84
	<u>Walbridge Park</u> Walbridge Park - PTZ Camera					
175	AXIS Q6135-LE 60HZ PTZ camera with continues 360° pan and build in IR illumination (660ft) with 32x optical zoom, Autofocus and Focus Recall. HDTV 1080p @ 60fps (1920x1080) in Motion JPEG, H.264, H.265, and Axis Zipstream. Day & Night, IP66, NEMA 4X and NEMA TS2 classification. Full-size SD-card slot. Perfect image quality in all directions without distortion. WDR, EIS, Speed dry. Includes Advanced gate keeper and analytics. Repaintable surface. Midspan with fiber slot and RJ45 input included.	\$	2,449.02	1	\$	2,449.02
176	AXIS T91A64 BRACKET CORNER	\$	77.42	1	\$	77.42
177	AXIS T91L61 WALL-AND-POLE MOUNT	\$	97.02	1	\$	97.02
178	Installation and Configuration	\$	110.00	1	\$	110.00
179	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	1	\$	58.80
180	Cabling	\$	250.00	1	\$	250.00
181	ACS Core Device E-License	\$	79.00	1	\$	79.00
182	Walbridge Park - Fixed Position Cameras  AXIS P3268-LVE High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3-8 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. 8MP 4K stream in 16:9 up to 30fps. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. Built in case open switch. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	\$	979.02	2	\$	1,958.04
183	Installation and Configuration	\$	110.00	2	\$	220.00
184	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	2	\$	117.60
185	Cabling	\$	250.00	2	\$	500.00
186	ACS Core Device E-License	\$	79.00	2	\$	158.00
	Server / Cell Modem					
187	i2c Video Server with 8GB Ram, 4TB HDD, Win 10 or Higher with 23" LED Monitor	\$	1,175.02	1	\$	1,175.02
		+	, <del>-</del>	•	+	,

188	Cradlepoint Cellular Modem with antenna	\$	1,612.10	1	\$	1,612.10	
189	Installation and Configuration	\$	110.00	1	\$	110.00	
190	8 Port 60W Managed POE Switch	\$	155.82	1	\$	155.82	
	Walbridge Park Total Price	Э			<b>\$9</b> ,	127.84	
	Danny Thomas Park						
	VPMax Pole Camera						
191	VPMax with two 4MP fixed cameras and M5525-E PTZ Surveillance Solution - Custom powder coated steel housing with Cradlepoint cellular modem and 4 TB ruggedized server and Axis Camera Station VMS	\$	7,349.02	1	\$	7,349.02	
192	Installation and Configuration	\$	110.00	2	\$	220.00	
193	Camera Configuration Setup and Training - Per Camera Installed on System	\$	58.80	3	\$	176.40	
	Danny Thomas Park Total Price	Э			\$7,	745.42	
	Total Price					\$128,853.32	
	Tax (calculated at the time of final invoice if applicable	)			\$0.	00	
	Grand Tota	ıl			\$12	8,853.32	

#### **Notes**

- Payment Terms are 50% down / 50% upon completion
- State Term Pricing STS#800890
- Customer to provide 110VAC power connections
- Customer to provide static ip sim card

#### **Warranty and Contract Information**

i2c Technologies installed systems include a 1 Year Warranty. This warranty includes all parts, onsite labor (if installed by i2c techs), remote support, unlimited tech support, system health monitoring, software upgrades and system adjustments. All support is provided by our Ohio based Support Team. This coverage can be extended after year 1 for 8% of the purchase price per year or for 3 years for 21% of the purchase price (7% per year).

I2c Technologies understands IP. Unlike other camera providers, our staff are IT professsionals. We have designed cutting edge IP video surveillance solutions for businesses for over 15 years. Every i2c network camera system is designed by an IT expert, and we only use world class products because we realize that protecting your business shouldn't compromise your network's security and performance



## **AXIS Q6135-LE PTZ Network Camera**

### High-speed PTZ with long-range optimizedIR

AXIS Q6135-LE offers HDTV 1080p with 32x optical zoom. It features OptimizedIR up to 250 m (820 ft) or more depending on the scene and Lightfinder 2.0 for clear, sharp images even in challenging light. Sharpdome technology allows you to see 20° above the horizon with the same sharp image quality as below. It includes orientation aid and autotracking 2 with click and track functionality. Privacy masking with mosaic lets you pixelate whole areas of the scene. It includes enhanced security features such as signed firmware, secure boot and TPM module. Plus, Axis Zipstream with support for H.264 and H.265.

- > HDTV 1080p with 32x optical zoom
- > OptimizedIR (250 m/820 ft range)
- > Lightfinder 2.0
- > Autotracking 2 and orientation aid
- > TPM, FIPS 140-2 level 2 certified







|--|

Models AXIS Q6135-LE 50 Hz AXIS Q6135-LE 60 Hz			IP address removed, network lost, new IP address, shock detected, storage failure, system ready, within operating temperature
Camera			Edge storage: recording ongoing, storage disruption I/O: manual trigger, virtual input
Image sensor	1/2.8" Progressive scan CMOS		MQTT subscribe
Lens	Varifocal, 4.3-137.6 mm, F1.4 - 4.0 Horizontal field of view: 58.3°-2.4°		PTZ: PTZ malfunctioning, PTZ movement, PTZ preset position reached, PTZ ready, PTZ autotracking
	Vertical field of view: 34.9°–1.3°		Scheduled and recurring: scheduled event
	Autofocus, auto-iris		Video: live stream open,day/night mode
Day and night	Automatically removable infrared-cut filter	Event actions	Record video: SD card and network share Pre- and post-alarm video or image buffering for recording or
Minimum illumination	Color: 0.06 lux at 30 IRE F1.4 B/W: 0.008 lux at 30 IRE F1.4, 0 lux with IR illumination on		upload
mummation	Color: 0.09 lux at 50 IRE F1.4		Upload of images or video clips: FTP, SFTP, HTTP, HTTPS, network
	B/W: 0.01 lux at 50 IRE F1.4, 0 lux with IR illumination on		share, and email Notification: email, HTTP, HTTPS, TCP, and SNMP trap
Shutter speed	1/66500 s to 2s		PTZ: PTZ preset, guard tour
Pan/Tilt/Zoom	Pan: 360° endless, 0.05°-700°/s		Overlay text, day/night mode WDR mode
	Tilt: +20 to -90°, 0.05°-500°/s Zoom: 32x optical, 12x digital, total 384x zoom		IR illumination
	Nadir flip, 256 preset positions, tour recording (max 10, max	Data atmosphism	MQTT publish
	duration 16 minutes each), guard tour (max 100), control gueue, on-screen directional indicator, orientation aid PTZ,	Data streaming	Event data
	set new pan 0°, adjustable zoom speed, speed dry	Built-in installation aids	Pixel counter, leveling guide
System on chip	o (SoC)	Analytics	
Model	ARTPEC-7	AXIS Object	Object classes: humans, vehicles
Memory	1024 MB RAM, 512 MB Flash	Analytics	Trigger conditions: line crossing, object in area, time in area <sup>BETA</sup>
Compute	Machine learning processing unit (MLPU)		Up to 10 scenarios  Metadata visualized with trajectories and color-coded bounding
capabilities			boxes
Video	LLOCA (MADEC A Deut 10/A)/C) Deselles Main and High Durfles		Polygon include/exclude areas Perspective configuration
Video compression	H.264 (MPEG-4 Part 10/AVC) Baseline, Main and High Profiles H.265 (MPEG-H Part 2/HEVC) Main Profile		ONVIF Motion Alarm event
·	Motion JPEG	Applications	Included
Resolution	1920x1080p (HDTV 1080p) to 320x180		AXIS Object Analytics, AXIS Video Motion Detection, AXIS Motion Guard, AXIS Fence Guard, AXIS Loitering Guard,
Frame rate	Up to 50/60 fps (50/60 Hz) in 1080p		Autrotracking 2, Active Gatekeeper
Video streaming	Multiple, individually configurable streams in H.264, H.265 and		Support for AXIS Camera Application Platform enabling installation of third-party applications, see axis.com/acap
	Motion JPEG Axis Zipstream technology in H.264 and H.265	General	instantation of time party applications, see axis.com, acap
	Controllable frame rate and bandwidth	Casing	IK08, IK10 housing and mounting <sup>b</sup> , IP66- and NEMA 4X-rated
1 11	VBR/ABR/MBR H.264/H.265	-	Repaintable metal casing (aluminum), hard coated Polycarbonate
Image settings	Compression, saturation, brightness, sharpness, contrast, local contrast, white balance, exposure control, exposure zones,	Sustainability	(PC) clear dome with Sharpdome technology  PVC free
	Forensic WDR: Up to 120 dB depending on scene, defogging,	Power	Axis High PoE midspan 1-port: 100-240 V AC, max 74 W
	day/night shift level, tone mapping, fine tuning of low-light behavior, rotation: 0°, 180°, text and image overlay, image freeze	Tower	Camera consumption: typical 13.5 W (no IR), max 51 W
	on PTZ, electronic image stabilization (EIS), scene profiles, 32		Axis PoE+ midspan 1-port: 100-240 V AC, max 37 W IEEE 802.3at Type 2 Class 4
	individual polygon privacy masks		Camera consumption: typical 13.5 W, max 25 W
Audio Audio	Two-way audio connectivity via optional AXIS T61 Audio and I/O	Connectors	RJ45 10BASE-T/100BASE-TX PoE
input/output	Interfaces with portcast technology		RJ45 Push-pull Connector (IP66) Audio and I/O connectivity via AXIS T61 Audio and I/O Interfaces
Network			with portcast technology
Security	Password protection, IP address filtering, HTTPS <sup>a</sup> encryption,	IR illumination	OptimizedIR with power-efficient, long life 850 nm IR LEDs
	IEEE 802.1x (EAP-TLS) <sup>a</sup> network access control, Digest authentication, User access log, Centralized Certificate		With 30 W midspan: Range of reach 190 m (623 ft) or more depending on the scene
	Management, Brute force delay protection, signed firmware,		With 60 W midspan: Range of reach 250 m (820 ft) or more
	secure boot, secure keystore (CC EAL4 certified), TPM (FIPS 140-2 certified)		depending on the scene
Supported	IPv4, IPv6 USGv6, ICMPv4/ICMPv6, HTTP, HTTPSa, HTTP/2, TLSa,	Storage	Support for microSD/microSDHC/microSDXC card
protocols	QoS Layer 3 DiffServ, FTP, CIFS/SMB, SMTP, mDNS (Bonjour),		Support for SD card encryption Support for recording to network-attached storage (NAS)
	UPnP <sup>TM</sup> , SNMP v1/v2c/v3 (MIB-II), DNS/DNSv6, DDNS, NTP, RTSP, RTP, SRTP, SFTP, TCP, UDP, IGMP, RTCP, ICMP, DHCPv4/v6, ARP,		For SD card and NAS recommendations see axis.com
	SOCKS, SSH, NTCIP, LLDP, CDP, MQTT v3.1.1, Syslog, Link-Local	Operating	With 30 W midspan: -30 °C to 50 °C (-22 °F to 122 °F)
	address (ZeroConf)	conditions	With 60 W midspan: -50 °C to 50 °C (-58 °F to 122 °F)  Maximum temperature according to NEMA TS 2 (2.2.7): 74 °C
System integra			(165 °F)
Application Programming	Open API for software integration, including VAPIX® and AXIS Camera Application Platform; specifications at axis.com		Arctic Temperature Control: Start-up as low as -40 °C (-40 °F) Humidity 10–100% RH (condensing)
Interface	One-Click Cloud Connection	Storage	-40 °C to 70 °C (-40 °F to 158 °F)
	ONVIF® Profile G, ONVIF® Profile S, and ONVIF® Profile T, specification at <i>onvif.org</i>	conditions	Humidity 5-95% RH (non-condensing)
Event conditions		Approvals	EMC
Event conditions	Device status: above operating temperature, above or below		EN 55032 Class A, EN 55035,EN 55024, EN 50121-4, IEC 62236-4, EN 61000-3-2, EN 61000-3-3, EN 61000-6-1, EN 61000-6-2,
	operating temperature, below operating temperature, fan failure,		2 0.300 0 2, 214 01000 3 3, 214 01000-0-1, 214 01000-0-2,

T10144009/EN/M16.3/2206 www.axis.com

	FCC Part 15 Subpart B Class A, ICES-3(A)/NMB-3(A), VCCI Class A, RCM AS/NZSCISPR32 Class A KC KN32 Class A, KN35 Safety IEC/EN/UL 62368-1, IEC/EN/UL 60950-22, IEC/EN 62471 risk group 2, IS13252 Environment IEC/EN 62262 IK08, IEC/EN 60529 IP66, NEMA 250, Type 4X, NEMA TS 2 (2.2.7-2.2.9), IEC 60068-2-1, IEC 60068-2-2, IEC 60068-2-6, IEC 60068-2-14, IEC 60068-2-27, IEC 60068-2-30, IEC 60068-2-78, IS04892-2 Network NIST SP500-267 For midspan approvals, see: axis.com/products/axis-t8154-60-w-sfp-midspan
Dimensions	Height: 241 mm (9.5 in) ø 165 mm (6.4 in)
Weight	3 kg (6.6 lb)

	Included accessories	IP66-rated RJ45 connector kit, AXIS High PoE 60 W SFP Midspan, installation guide, Windows decoder 1-user licence
	Optional accessories	AXIS T91/T94 Mounting Accessories, Axis High PoE midspans For more accessories, see axis.com
-	Video management software	AXIS Companion, AXIS Camera Station, video management software from Axis' Application Development Partners available on www.axis.com/vms
	Languages	English, German, French, Spanish, Italian, Russian, Simplified Chinese, Japanese, Korean, Portuguese, Traditional Chinese
	Warranty	5-year warranty, see axis.com/warranty

a. This product includes software developed by the OpenSSL Project for use in the OpenSSL Toolkit. (openssl.org), and cryptographic software written by Eric Young (eay@cryptsoft.com).
 b. Mounting not included

Environmental responsibility: axis.com/environmental-responsibility





### **AXIS Q6100-E Network Camera**

For 360° real-time monitoring and great detail

With four 5 MP sensors, AXIS Q6100-E provides a complete 360° overview with great image usability day and night. Designed for use with any AXIS Q61 Series or AXIS Q63 Series camera, it enables one-click PTZ control and autopilot for automatic PTZ tracking within the viewing areas. Directional audio detection triggered by audio incidents redirects the PTZ camera to the audio source. Each sensor has exchangeable lenses with autofocus for maximum flexibility and accurate configuration. AXIS Camera Heater Power Supply is required when AXIS Q6315-LE is used.

- > 360° camera with one-click PTZ control
- > 4 x 5 MP sensors, total 20 MP resolution
- > Exchangeable and tiltable lenses
- > Requires an AXIS Q61 Series or AXIS Q63 Series camera
- > Directional audio detection included









<b>AXIS</b>	<b>Q6100-E</b>	Network	Camera
-------------	----------------	---------	--------

Models	AXIS Q6100-E 50 Hz AXIS Q6100-E 60 Hz	Event actions	Video: day-night mode, live stream open, tampering
Camera			Record video: SD card and network share Upload of images or video clips: FTP, SFTP, HTTP, HTTPS, network
Supported	AXIS Q61-E PTZ Network Cameras		share and email
products	AXIS Q63-E PTZ Network Cameras		Pre- and post-alarm video or image buffering for recording or upload
lmage sensor	4 x 5 MP progressive scan RGB CMOS 1/2.5"		Notification: email, HTTP, HTTPS, TCP and SNMP trap
Lens	Autofocus lenses, Fixed iris, F2.0, Focal length: 2.8 mm Horizontal field of view: 360° Vertical field of view: 84°		PTZ: PTZ preset Overlay text, day/night mode, Status LED, WDR mode MQTT publish
Day and night	Automatically removable infrared-cut filter	Data streaming	Event data
Minimum Illumination	Color: 0.4 lux at 50 IRE, F2.0 B/W: 0.03 lux at 50 IRE, F2.0	Built-in installation aids	Installation focus, lens selection, positioning calibration, PTZ remote connection
Shutter speed	1/32500 to 1/20 s	General	
Camera angle adjustment	Pan, tilt and rotate	Casing	IP66-, NEMA 4X- and IK10-rated Polycarbonate hardcoated dome Aluminum casing
Pan/Tilt/Zoom	One-click PTZ control	Sustainability	PVC free
system on chip	o (SoC)	Power	Power consumption without PTZ: PoE typical 9 W, max 23 W
Model	S5	Connectors	RJ45 10BASE-T/100BASE-TX/1000BASE-T PoE
Memory	2048 MB RAM, 512 MB Flash		RJ45 10BASE-T/100BASE-TX/1000BASE-T Q61-E port
Video		Storage	Support for SD/SDHC/SDXC card and encryption
Video compression	H.264 (MPEG-4 Part 10/AVC), Main and High Profiles H.265 (MPEG-H Part 2/HEVC), Main Profile		Recording to network-attached storage (NAS) For SD card and NAS recommendations see axis.com
Resolution	4 x 2592x1944 to 320x240 Default: 2592x1944	Operating conditions	-50 °C to 50 °C (-58 °F to 122 °F) with AXIS Camera Heater Power Supply -40 °C to 50 °C (-40 °F to 122 °F)
Frame rate	Up to 20 fps (50/60 Hz) in all resolutions		Maximum temperature according to NEMA TS 2 (2.2.7): 74 °C
Video streaming	Multiple, individually configurable streams in H.264 and H.265 Axis Zipstream technology in H.264 and H.265 Controllable frame rate and bandwidth VRR/ARP/MRR H.264/H.265		(165 °F) Start-up temperature: -40 °C (-40 °F) Humidity 10–100% RH (condensing)
mage settings	VBR/ABR/MBR H.264/H.265 Resolution, compression, saturation, brightness, sharpness,	Storage conditions	-40 °C to 65 °C (-40 °F to 149 °F) Humidity 5–95% RH (non-condensing)
	contrast, white balance, exposure level, exposure mode, shutter & gain fine tuning of behavior at normal and low light, polygon privacy masks (maximum 8 per channel), WDR, dynamic text and image overlay		EMC EAC, EN 55032 Class A, EN 55035, EN 50121-4, IEC 62236-4, EN 61000-3-2, EN 61000-3-3, EN 61000-6-1, EN 61000-6-2,
Network			FCC Part 15 Subpart B Class A, ICES-3(A)/NMB-3(A), VCCI Class A RCM AS/NZS CISPR 32 Class A, KC KN32 Class A, KN35
Security	Password protection, IP address filtering, HTTPS <sup>a</sup> encryption, IEEE 802.1x (EAP-TLS) <sup>a</sup> network access control, digest authentication, user access log, centralized certificate management, brute force delay protection		Safety IEC/EN/UL 62368-1, CAN/CSA C22.2 No. 62368-1, IEC/EN/UL 60950-22, CAN/CSA-C22.2 No. 60950-22 Environment IEC 60068-2-1, IEC 60068-2-2, IEC 60068-2-6, IEC 60068-2-14
Supported protocols	IPv4, IPv6 USGv6, ICMPv4/ICMPv6, HTTP, HTTPS <sup>a</sup> , HTTP/2, TLS <sup>a</sup> , QoS Layer 3 DiffServ, FTP, SFTP, CIFS/SMB, SMTP, mDNS (Bonjour), UPnP <sup>*</sup> , SNMP v1/v2c/v3 (MIB-II), DNS/DNSv6, DDNS, NTP, RTSP, RTP, SRTP, TCP, UDP, IGMP, RTCP, ICMP, DHCPv4/v6, ARP, SOCKS, SSH, NTCIP, LLDP, CDP, MQTT v3.1.1, Syslog, Link-Local address		IEC 60068-2-1, IEC 60068-2-2, IEC 60068-2-6, IEC 60068-2 IEC 60068-2-27, IEC 60068-2-78, IEC/EN 60529 IP66, IEC/EN 62262 IK10, NEMA 250 Type 4X, NEMA TS 2 (2.2.7-2.: Network NIST SP500-267
	(ZeroConf)	Dimensions	ø 361 mm (14.2 in) Height: 192 mm (7.6 in)
System integra Application	Open API for software integration, including VAPIX® and	Weight	4.0 kg (8.8 lb)) excluding an AXIS Q61-E PTZ Network Camera or AXIS Q63-E PTZ Network Camera
Programming Interface	AXIS Camera Application Platform; specifications at axis.com One-click cloud connection ONVIF® Profile G, ONVIF® Profile S, and ONVIF® Profile T,	Included accessories	AXIS Q61-E and AXIS Q63-E adapter, bayonet screws, installation guide, Windows® decoder 1-user license
Analytics	specification at <i>onvif.org</i> Included	Required accessories	AXIS Camera Heater Power Supply is required when AXIS Q6315-LE is used.
	Directional audio detection, autopilot, AXIS Motion Guard, AXIS Fence Guard, and AXIS Loitering Guard, AXIS Video Motion Detection, active tampering alarm, edge storage events Support for AXIS Camera Application Platform enabling installation of third-party applications, see axis.com/acap	Optional accessories	Axis Lens M12 6 mm 5P, Axis Lens M12 12 mm 5P, Axis Lens M12 16 mm 5P, Axis Lens M12 25 mm 5P, AXIS T91 Mounting accessories, Axis Midspan 60 W 1-port, AXIS Camera Heater Power Supply For more accessories, see axis.com
Event conditions	Analytics, edge storage events, virtual inputs through API Device status: above operating temperature, above or below operating temperature, below operating temperature, fan failure, IP address removed, network lost, new IP address, storage failure,	Video management software	AXIS Companion, AXIS Camera Station, video management software from Axis Application Development Partners available at axis.com/vms
	system ready, within operating temperature  Edge storage: recording ongoing, storage disruption	Languages	English, German, French, Spanish, Italian, Russian, Simplified Chinese, Japanese, Korean, Portuguese, Polish, Traditional Chines
	I/O: manual trigger, virtual input MQTT subscribe	Warranty	5-year warranty, see axis.com/warranty
	PTZ: PTZ ready	a. This product incl	udes software developed by the OpenSSL Project for use in the
	Scheduled and recurring: scheduled event		(openssl.org), and cryptographic software written by Eric Your

WWW.CIXIS.COM T10145239/EN/M14.2/2111

Environmental responsibility:

axis.com/environmental-responsibility





### **AXIS P3268-LVE Dome Camera**

#### Outdoor 8 MP dome with IR and deep learning

Featuring Lightfinder 2.0, Forensic WDR, and OptimizedIR, AXIS P3268-LVE delivers excellent image quality under any light conditions. Based on the latest Axis system-on-chip (SoC), it includes a deep learning processing unit enabling advanced features and powerful analytics based on deep learning on the edge. Thanks to AXIS Object Analytics, it offers detection and classification of humans, vehicles, and types of vehicles—all tailored to your specific needs. Featuring audio and I/O connectivity, you can integrate equipment and extend the value of your system. Furthermore, this robust, IK10-rated, outdoor-ready camera includes built-in cybersecurity to help prevent unauthorized access and safeguard your system.

- > Excellent image quality in brilliant 4K
- > Lightfinder 2.0, Forensic WDR, and OptimizedIR
- > Analytics with deep learning
- > Audio and I/O connectivity
- > Built-in cybersecurity features









## **AXIS P3268-LVE Dome Camera**

Camera	4/4 0/1		Support for Session Initiation Protocol (SIP) for integration with	
Image sensor 1/1.8" progressive scan RGB CMOS			Voice over IP (VoIP) systems, peer to peer or integrated with SIP/PBX.	
Lens	Varifocal, 4.3–8.6 mm, F1.5 Horizontal field of view: 100°–53° Vertical field of view: 54°–30° Minimum focus distance: 50 cm (20 in) IR corrected, remote zoom and focus, P-Iris control	Onscreen controls	Day/night shift Defogging Wide dynamic range Video streaming indicator IR illumination	
Day and night	Automatically removable infrared-cut filter	Event conditions	Analytics, external input, supervised external input, virtual input	
Minimum illumination	With Forensic WDR and Lightfinder 2.0: Color: 0.14 lux at 50 IRE, F1.5 B/W: 0 lux at 50 IRE, F1.5	Event conditions	Analytics, external input, supervised external input, virtual input through API Call: state, state change Device status: above operating temperature, above or below	
Shutter speed	1/8500 s to 1/5 s		operating temperature, below operating temperature, within	
Camera angle adjustment	Pan ±190°, tilt -10 to +80°, rotation ±190°		operating temperature, IP address removed, new IP address, network lost, system ready, ring power overcurrent protection, live stream active, casing open	
System on chip	o (SoC)		Digital audio: digital signal contains Axis metadata, digital signa	
Model	ARTPEC-8		has invalid sample rate, digital signal missing, digital signal okay Edge storage: recording ongoing, storage disruption, storage	
Memory	2048 MB RAM, 8192 MB Flash		health issues detected	
Compute capabilities	Deep learning processing unit (DLPU)		I/O: digital input, manual trigger, virtual input MQTT: subcribe Scheduled and recurring: schedule	
Video			Video: average bitrate degradation, day-night mode, live stream	
Video compression	H.264 (MPEG-4 Part 10/AVC) Baseline, Main, and High Profiles H.265 (MPEG-H Part 2/HEVC) Main Profile Motion JPEG	Event actions	open, tampering  Overlay text, external output activation, zoom preset, day/night	
Resolution	3840x2160 to 160x90		mode, flash status LED, use lights, set defog mode, set WDR mode Calls: end SIP call, make SIP call, answer call	
Frame rate	25/30 fps with power line frequency 50/60 Hz		I/O: toggle I/O once, toggle I/O while the rule is active	
Video streaming	Multiple, individually configurable streams in H.264, H.265, and		MQTT: publish Notification: email, HTTP, HTTPS, TCP, and SNMP trap	
,	Motion JPEG Axis Zipstream technology in H.264 and H.265 Controllable frame rate and bandwidth VBR/ABR/MBR H.264/H.265 Video streaming indicator		Pre- and post-alarm video or image buffering for recording or upload Record video: SD card and network share Upload of images or video clips: FTP, SFTP, HTTP, HTTPS, network share, and email	
Multi-view	Up to 2 individually cropped out view areas in full frame rate	Data streaming	Event data	
streaming Image settings	Saturation, contrast, brightness, sharpness, Forensic WDR: up to	Built-in installation aids	Remote zoom and focus, straighten image, pixel counter, level grid	
	120 dB depending on scene, white balance, day/night threshold, local contrast, tone mapping, exposure mode, exposure zones,	Analytics		
	defogging, barrel distortion correction, compression, rotation: 0°, 90°, 180°, 270° including Corridor Format, mirroring, dynamic text and image overlay, privacy masks, polygon privacy mask	AXIS Object Analytics	Object classes: humans, vehicles (types: cars, buses, trucks, bikes) Trigger conditions: line crossing, object in area	
Pan/Tilt/Zoom	Digital PTZ, preset positions		Up to 10 scenarios	
Audio			Metadata visualized with color-coded bounding boxes Polygon include/exclude areas	
Audio streaming	Audio in, simplex, two-way audio via edge-to-edge technology		Perspective configuration	
Audio encoding	24bit LPCM, AAC-LC 8/16/32/44.1/48 kHz, G.711 PCM 8 kHz, G.726 ADPCM 8 kHz, Opus 8/16/48 kHz Configurable bit rate	Applications	ONVIF Motion Alarm event  Included AXIS Object Analytics	
Audio input/output	External microphone input, line input, digital input with ring power, automatic gain control, network speaker pairing		AXIS Video Motion Detection, active tampering alarm, audio detection Support for AXIS Camera Application Platform enabling	
Network			installation of third-party applications, see axis.com/acap	
Security	Password protection, IP address filtering, HTTPS <sup>a</sup> encryption, IEEE 802.1x (EAP-TLS) <sup>a</sup> network access control, digest authentication, user access log, centralized certificate management, brute force delay protection, signed firmware, secure boot signed video, Axis Edge Vault, Axis device ID, secure keystore (CC EAL4 certified)	General Casing	IP66-, NEMA 4X- and IK10-rated Polycarbonate hard coated dome Polycarbonate casing and weathershield Color: white NCS S 1002-B For repainting instructions, go to the product's support page. For information about the impact on warranty, go to	
Supported protocols	IPv4, IPv6 USGv6, ICMPv4/ICMPv6, HTTP, HTTPS <sup>a</sup> , HTTP/2, TLS <sup>a</sup> , QoS Layer 3 DiffServ, FTP, SFTP, CIFS/SMB, SMTP, mDNS	Mounting	axis.com/warranty-implication-when-repainting.  Mounting bracket with junction box holes (double-gang,	
	(Bonjour), UPnP*, SNMP v1/v2c/v3 (MIB-II), DNS/DNSv6, DDNS, NTP, RTSP, RTCP, RTP, SRTP, TCP, UDP, IGMPv1/v2/v3, DHCPv4/v6, ARP, SOCKS, SSH, SIP, LLDP, CDP, MQTT v3.1.1, Syslog, Link-Local	Sustainability	single-gang, and 4" octagon) and for wall or ceiling mount  PVC free, BFR/CFR free	
	address (ZeroConf)		6.4% bioplastics	
System integration  Application Open API for software integration, including VAPIX® and		Power	Power over Ethernet (PoE) IEEE 802.3af/802.3at Type 1 Class 3 Typical 5.5 W, max 11.2 W	
Programming Interface	AXIS Camera Application Platform; specifications at axis.com One-click cloud connection ONVIF® Profile G, ONVIF® Profile M, ONVIF® Profile S, and ONVIF® Profile T, specification at onvif.org	Connectors	RJ45 10BASE-T/100BASE-TX PoE I/O: 4-pin 2.5 mm (0.098 in) terminal block for 1 supervised digital input and 1 digital output (12 V DC output, max. load 25 mA)	

www.cxis.com T10175420/EN/M5.2/2206

	Audio: 3.5 mm mic/line in
IR illumination	OptimizedIR with power-efficient, long-life 850 nm IR LEDs Range of reach 40 m (130 ft) or more depending on the scene
Storage	Support for microSD/microSDHC/microSDXC card Support for SD card encryption (AES-XTS-Plain64 256bit) Recording to network-attached storage (NAS) For SD card and NAS recommendations see axis.com
Operating conditions	-40 °C to 50 °C (-40 °F to 122 °F)  Maximum temperature according to NEMA TS 2 (2.2.7): 74 °C (165 °F)  Start-up temperature: -30 °C to 50 °C (-22 °F to 122 °F)  Humidity 10–100% RH (condensing)
Storage conditions	-40 °C to 65 °C (-40 °F to 149 °F) Humidity 5–95% RH (non-condensing)
Approvals	EMC EN 50121-4, EN 55032 Class A, EN 55035, EN 61000-3-2, EN 61000-3-3, EN 61000-6-1, EN 61000-6-2, FCC Part 15 Subpart B Class A, ICES-3(A)/NMB-3(A), IEC 62236-4, KC KN32 Class A, KC KN35, RCM AS/NZS CISPR 32 Class A, VCCI Class A Safety CAN/CSA C22.2 No. 62368-1 ed. 3, IEC/EN/UL 62368-1 ed. 3, IEC/EN 62471, IS 13252 Environment IEC 60068-2-1, IEC 60068-2-2, IEC 60068-2-6, IEC 60068-2-14, IEC 60068-2-27, IEC 60068-2-78 IEC/EN 60529 IP66, IEC/EN 62262 IK10, NEMA 250 Type 4X, NEMA TS2 (2.2.7-2.2.9)

	Network NIST SP500-267
Dimensions	Without weathershield: Height: 107 mm (4.21 in) ø 149 mm (5.87 in)
Weight	With weathershield: 900 g (2.0 lb)
Included accessories	Installation guide, Windows® decoder 1-user license, drill template, RESISTORX® T20 screw bit, terminal block connectors, cable gaskets, connector guard, weathershield
Optional accessories	AXIS TP3201-E Recessed Mount, AXIS TP3103-E Pendant Kit, AXIS T8355 Digital Microphone 3.5 mm, AXIS ACI Conduit Adapters, smoked dome, black casing For more accessories, see axis.com
Video management software	AXIS Companion, AXIS Camera Station, video management software from Axis Application Development Partners available at axis.com/vms
Languages	English, German, French, Spanish, Italian, Russian, Simplified Chinese, Japanese, Korean, Portuguese, Polish, Traditional Chinese
Warranty	5-year warranty, see axis.com/warranty

a. This product includes software developed by the OpenSSL Project for use in the OpenSSL Toolkit. (openssl.org), and cryptographic software written by Eric Young (eay@cryptsoft.com).

Environmental responsibility:

axis.com/environmental-responsibility







## VPMax Multi-Camera Deployable Unit

The VPMax Multi Camera Deployable Unit is a complete HD video surveillance system in a rugged housing that easily mounts on a utility pole or building. The system supports a wide variety of camera configurations, an advanced 4G LTE cellular data modem for live monitoring and remote camera control, and an onboard PC featuring Axis Camera Station for 24/7 recording, fast retrieval of key video, and a bandwidth-friendly performance. The VPMax can be rapidly deployed for event surveillance and security operations.

#### **Available Configurations**



2 Fixed Axis 4MP HD Cameras each with 130° field of view (260° visibility) with an Axis 1080p PTZ Camera



2 Fixed Axis Thermal Imaging Cameras for two areas on day/night detection with an Axis 1080p PTZ Camera



2 Fixed Axis 4MP HD Cameras each with 130° field of view (260° of visibility) with 2x Axis Q1700 License Plate Recognition Cameras

\*Base Cabinet Dimensions (without cameras) 28" W x 12" H x 10" D

# I2C TECHNOLOGIES, LTD. STANDARD TERMS AND CONDITIONS

All orders placed with I2C Technologies, Ltd. ("12C") are subject to the following terms and conditions of sale (the "Terms"):

- 1. Acceptance. All quotations issued by I2C are subject to change by I2C at any time prior to acceptance and are automatically void if not accepted within 30 days after the date appearing on the quotation. No purchase order or other document from Customer, or term or condition inconsistent with or in addition to these Terms, will be binding upon I2C unless approved in writing by an authorized I2C representative. I2C hereby objects to and rejects any and all of Customer's terms and/or conditions inconsistent with or in addition to these Terms.
- Pricing and Shipping. Unless otherwise agreed in writing by an authorized representative of I2C (i) prices for equipment and materials (collectively, the "Equipment") and services will be the prices set forth in the quotation in U.S. Dollars (the "Purchase Price"); and (ii) a 50% down payment of the Purchase Price is required prior to shipping and/or installation, whichever occurs first, and the remaining 50% of the Purchase Price is due immediately upon installation of the Equipment. Customer hereby acknowledges and agrees that the Equipment includes a software deactivation system that will render the Equipment inoperable if final payment of the Purchase Price is not made within 7 days of installation of the Equipment, and that Customer will incur interest charges in the amount of 1.5% per month on all unpaid balances beyond the payment due date. Customer is responsible for any and all federal, state and local taxes associated with Customer's purchase of the Equipment. Title to the Equipment and all risk of loss or damage to the Equipment will pass to Customer at the time the Equipment is transferred by I2C to a commercial carrier, and/or installed, whichever occurs first. All delivery and installation dates are estimates, and in no event will I2C be liable for any form of damages associated with or arising from a delay in delivery and/or installation.
- Equipment Installation; Monitoring Service; Initial Training. Customer agrees to grant I2C and/or its representatives, reasonable access to Customer's facility during normal business hours for the purpose of installing the Equipment, if applicable. Customer acknowledges that remote access to its system is only supported if the Customer already has an existing firewall that supports Virtual Private Network (VPN) access to the Customer's network or if a VPN firewall has been included as part of Customer's purchase from I2C. If Customer elects to use internal resources or an outside company to provide the "structured cabling" portion of the installation, Customer must satisfy all of the following standards: a) all network connectivity must conform to the TIA/EIA 568 B Wiring Standards for Network Cabling; b) each camera location requires a "biscuit" style 1 port RJ-45 jack to be mounted within 12 feet of the planned camera/access control location; c) a properly terminated patch panel must be placed at each network closet where camera/access control connections are terminated: d) power/other connection cabling must be left with a minimum of 12 feet of looped cabling at each end of a given cabling run; and e) cabling must be properly installed and supported in ceiling runs according to all applicable building codes/guidelines. Customer agrees to correct any "structured cabling" errors at Customer's sole cost. I2C reserves the right to charge Customer, and Customer agrees to pay to I2C, \$120 per hour for each hour I2C spends troubleshooting incorrectly installed cabling. Customer acknowledges and agrees that each camera included with the Equipment requires 14GB (Gigabytes) of storage space per day for continuous recording, and that the amount of storage required for archiving is dramatically reduced by the use of motion detectors that limit recording time to only those times when motion is present in the desired area. Customer acknowledges and agrees that less than 85% of the hard disk drive space referenced in the quotation is available for storage of video archives, and that at least 15% of the hard disk space is required for system applications and processes. Upon the successful installation of the Equipment, and provided that Customer purchases the I2C Software and permits I2C to remotely access the Equipment, I2C will periodically monitor the Equipment from a remote location for a period of 90 days after installation for the purpose of determining whether the Equipment is operational ("System Health Monitoring"). Customer acknowledges and agrees that the sole purpose of the forgoing monitoring is to determine operability of the Equipment, and that I2C

- will use commercially reasonable efforts to notify Customer of any inoperability in the system within 8 business hours of I2C learning of the same. If the Equipment is found to be inoperable, Customer's sole remedy will be the Limited Warranty provisions contained in these Terms, and in no event will I2C be responsible or liable to Customer for any direct, indirect, consequential, incidental, punitive or special damages resulting from, or in any manner relating to, the inoperability of the Equipment. Customers who do not purchase the I2C Software will not receive the 90 days of System Health Monitoring. System Health Monitoring beyond the 90 day grace period is only available if the Customer purchases the Extended Service Agreement. I2C will provide the Customer with 2 hours of training on how to use the Equipment and Software, if applicable. Additional training and Software enhancements are available for an additional fee.
- Limited Warranty. Except and unless the Customer pays for and enters into an Extended Service and Warranty Agreement with I2C, the following limited warranty will apply: I2C warrants that the Equipment sold hereunder shall be free from defects in material and workmanship for a period of one year after delivery or installation, whichever occurs first, and I2C warrants all services performed for a period of 90 days after installation, provided in both instances that Customer notifies I2C of any defect in writing and in accordance with these Terms within 10 working days after Customer's discovery of a defect (the "Limited Warranty"). I2C's obligations under the Limited Warranty are limited to repair or replacement of the defective Equipment, or component thereof, and/or the provision of additional services, as determined by I2C in its sole discretion. Repair of the Equipment, or a component thereof, or the provision of additional services does not renew or extend the term of the Limited Warranty. The Limited Warranty does not extend to Customer's agents or customers, and does not apply to any Equipment that, in I2C's sole discretion, has been repaired, modified, subject to misuse, abuse, alteration, improper handling, or improper testing or installation whether by accident, negligence, or other cause. Equipment failures do not include damage caused by external sources or Acts of God. EXCEPT FOR THE LIMITED WARRANTY, I2C DISCLAIMS ALL OTHER WARRANTIES, EXPRESS OR IMPLIED, INCLUDING, WITHOUT LIMITATION, WARRANTIES WITH RESPECT TO NONINFRINGEMENT, MERCHANTABILITY AND/OR FITNESS FOR A PARTICULAR PURPOSE AND I2C SPECIFICALLY DOES NOT WARRANT THAT THE EQUIPMENT WILL FUNCTION UNINTERRUPTED OR ERROR FREE. I2C ALSO DOES NOT WARRANT THE USE OF THE EQUIPMENT, SOFTWARE NOR, AND/OR ANY OF THEIR RESPECTIVE COMPONENTS AS ANY TYPE OF SECURITY OR PROTECTION SYSTEM. NO WARRANTIES OR REPRESENTATIONS AT ANY TIME MADE BY ANY I2C REPRESENTATIVE WILL BE EFFECTIVE TO VARY OR EXPAND THE ABOVE-REFERENCED LIMITED WARRANTY OR ANY OTHER TERMS THEREOF. All Warranty claims must be submitted to I2C's Service Department, 1549 Boettler Rd., Suite D, Uniontown, Ohio 44685, in writing and include the following information: a) purchase order number; b) date of claim; c) product serial number(s); d) original delivery date; e) total operating time (if applicable); f) reason for return; and g) certification by Customer's duly authorized representative concerning accuracy of above information. I2C will return all incomplete Limited Warranty claims to the Customer for completion. Upon receipt of a complete Limited Warranty claim from Customer, I2C will evaluate the claim and determine, in its sole discretion, whether the Limited Warranty applies. If the Limited Warranty applies, I2C will repair or replace the Equipment, or component thereof, at Customer's site if feasible. If I2C cannot repair or replace the Equipment, or a component thereof, at Customer's site, I2C will authorize the Customer in writing to return the Equipment, or component thereof, to I2C. Upon repair or replacement of the Equipment, or a component thereof, I2C will return the Equipment to Customer's site. If Customer has a valid Limited Warranty claim. I2C will reinstall the Equipment for Customer at no cost to the Customer. If Customer does not have a valid Limited Warranty claim, I2C will reinstall the Equipment at I2C's then current hourly fee. If Customer is authorized to return the Equipment to I2C and Customer has a valid Limited Warranty claim, I2C will reimburse Customer for reasonable shipping costs

# I2C TECHNOLOGIES, LTD. STANDARD TERMS AND CONDITIONS

associated with the return of the Equipment to I2C. I2C will have no responsibility for unauthorized returns or invalid Limited Warranty claims

- Limitation of Liability; Reservation of Rights. I2C WILL NOT BE LIABLE FOR ANY INDIRECT, CONSEQUENTIAL, INCIDENTAL, PUNITIVE OR SPECIAL DAMAGES RESULTING FROM, OR IN ANY MANNER RELATING TO, THE EQUIPMENT, OR ANY COMPONENT THEREOF, SOLD HEREUNDER, THEIR DELIVERY, NON-DELIVERY, DESIGN, OR THE CUSTOMER'S INABILITY TO USE THE SAME, WHETHER SUCH DAMAGES ARE CLAIMED UNDER CONTRACT, TORT, OR ANY OTHER LEGAL OR EQUITABLE THEORY. IN NO EVENT WILL I2C'S TOTAL LIABILITY HEREUNDER EXCEED THE PURCHASE PRICE OF THE SERVICES OR EQUIPMENT, OR A COMPONENT THEREOF, GIVING RISE TO THE LIABILITY. THE CUSTOMER IS ULTIMATELY RESPONSIBLE FOR COMPLIANCE WITH ALL FEDERAL, STATE, AND LOCAL LAWS REGULATING VIDEO AND AUDIO SURVEILLANCE OF EMPLOYEES OR THIRD PARTIES ON THE CUSTOMER'S PROPERTY. THE CUSTOMER IS SOLELY RESPONSIBLE FOR LIABILITY AND COSTS ASSOCIATED WITH NONCOMPLIANCE. THE CUSTOMER ACKNOWLEDGES THAT I2C IS NOT PROVIDING LEGAL ADVICE, AND TO THE EXTENT LEGAL ADVICE IS REQUIRED, THE CUSTOMER SHOULD CONSULT WITH AN ATTORNEY REGARDING APPROPRIATE USE OF VIDEO AND AUDIO SURVEILLANCE EQUIPMENT AND TECHNOLOGY.
- Force Majeure. I2C will not be liable for its failure to perform hereunder, in whole or in part, due to contingencies beyond its control including, but not limited to, acts of God, acts of the Customer, fires, floods, wars, sabotage, accidents, labor disputes or shortages, governmental laws, ordinances, rules and regulations, whether valid or invalid (including, but not limited to requisitions, allocations, and/or price adjustment restrictions) and/or I2C's inability to obtain material, equipment, or transportation. During the period of contingency, I2C will have the right to omit all or any portion of the quantity deliverable during such period, whereupon, the total quantity deliverable under this Agreement will be reduced by the quantity so omitted. If, due to any such contingency, I2C is unable to supply the total demands for any Equipment, or component thereof, specified in the quotation or any order, I2C will have the right to allocate its available supply among its customers and its departments, divisions, subsidiaries, and affiliates in such manner as I2C, in its sole discretion, deems fair and
- 7. Infringement. 12C makes no representation or warranty, and nothing herein or elsewhere contained will be construed as a representation or warranty by 12C, that any Equipment, or component thereof, covered by these Terms, or the use thereof by the Customer, will be free from infringement of any patent, trademark, service mark, copyright or other form of intellectual property (collectively, "Intellectual Property"). If the Equipment, or any component thereof, encompasses any feature, construction, or design at Customer's request, or pursuant to specifications, drawings and/or designs furnished by the Customer, or should any additions, changes or modifications be made by Customer to the Equipment, Customer agrees to indemnify, defend and hold 12C, and its members, officers, employees, agents, contractors, successors and assigns, harmless against any and all liability, losses, damages and/or claims of Intellectual Property infringement asserted against 12C (including reasonable attorney's fees and costs).
- 8. **Indemnification**. Customer agrees to indemnify, defend, and hold 12C, and its members, officers, employees, agents, contractors, successors and assigns harmless against any and all liability losses

construed in accordance with the laws of the State of Ohio, other than those relating to conflicts of law. All disputes arising hereunder must be resolved in the Summit County Court of Common Pleas, Summit County, Ohio or the U.S. District Court for the Northern District of Ohio and the parties agree to submit to the exclusive jurisdiction of said courts. Customer represents and warrants to 12C that it will comply with all applicable federal, state and local laws, rules, and regulations pertaining to the use of the Equipment. Any clause required to be included herein by any applicable law or administrative regulation having the effect of law shall be deemed to be incorporated herein. These Terms, the Quotation and the Extended Service and Warranty Agreement, if applicable, constitute the entire agreement between the parties and supersede any and all previous representations or agreements, either verbal or written, between the parties.